Al Of &8 AH & B Al A
20158 = S0l& LB H HaEItSD
AN GEIEY
g d=1sd
Sl YHBSRstety EERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o & ot=t 82,387,234 63,210,070 19,177,164
= 47,865,706
X 710,000
J| 663,852
=) 14,366,241
Al 18,781,435
Hd=XSH 1,888,358 1,562,239 326,119
= 290,630
J| 554,732
< 295,288
Al 747,708
LHESE3 e 196,100 44,600 151,500
< 4,100
Al 192,000
OIS M AXA 20,900 22,100 A 1,200
203 YR =&l 3,000 3,000 0
03 AIMF=XH S =AH| 3,000 3,000 0
O W= AIMFZ 3,000
301 et a = 2,900 4,100 A1,200
09 HALAHIE& S 2,900 4,100 A1,200
O TaAtd g & | JIG8AN 2IIEA(ME)
100,000& 10X 1,000
O S A ot 24
100,000& 5H 500
O A &AL ot 24 1,400
307 21201 A 15,000 15,000 0
11T M3 SXAISEEX 15,000 0 15,000
O =2t JIEdHA X 15,000,000& *13] 15,000
O EHMAREA(EX) 13,150 13,150 0
< 3,600
Al 9,550
307 gl2tol & 13,150 13,150 0
< 3,600
Al 9,550
11T M SXALSE EX 13,150 0 13,150
OWdeld I3 = 13,150
< 3,600
Al 9,550
GEHER& 1,800 1,800 0
201 Let24E] 1,800 1,800 0
01 At 22l 1,800 1,800 0
O XMNEUW 4318 - J0H0H - 4= 0l W= 1,500
O HEZAdRIA B2&EE 2 15,0008 20 300
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5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oot=Zsitd stgrstore 10,000
OZE0I2X StE- SIIAY 3,000
OFALZ LISI(SHLCIHA A2 ME &S
&) 4,000
Os&s2 =HZE MY 20,000
405 TtHabF S| 1,000 5,800 A 4,800
01 AL EFH S 1,000 5,800 A 4,800
OUZsIIEXNJEH =257 1,000
ZFEH 7 1,000,000& = 1CH 1,000
Ct2sttEXNJHEH2E X 30,000 31,000 A 1,000
307 glz2+ol & 30,000 31,000 21,000
10 ALSISEXAIEEE2GHEX 6,000 31,000 A 25,000
OY2UsEXNETAF MSIHALH 6,000
11T ALS S XAEE = 24,000 0 24,000
OUZaIFEAH Z2ssX XA 24,000
CGEANEXNALH2INA(EX) 584,808 519,712 65,096
J| 278,633
< 108,238
Al 197,937
301 et d s 5,000 0 5,000
< 2,500
Al 2,500
01 MI2EZ X +06l= 5,000 0 5,000
O ZE0I2A SHI XA 5,000
< 2,500
Al 2,500
307 21201 A 579,808 519,712 60,096
J| 278,633
< 105,738
Al 195,437
11T M3 SXAISEEX 579,808 0 579,808
O U2siH=sXddH 249 281,530
J| 197,071
< 28,153
Al 56,306
O UIRaINETE Ao NJAY 29,459
J| 20,622
< 2,944
Al 5,893
O Z2E012X SEHAMH A 48,546
J| 33,982
< 4,855
Al 9,709
O olsgd I=xs8a3d3xd 16,250
J| 11,375




Hd=sExsd
CE2stEXH (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
= 1,625
Al 3,250
O g=0us 2EXNH 22,262
Il 15,583
< 2,220
Al 4,459
O t=sotsstd 29 42,507
= 17,003
Al 25,504
O G=2AH=dE SAHA SX+=E 5,640
& 1,692
Al 3,948
O U2t SdE ZHISAMA 1A 24,314
= 9,726
Al 14,588
O 202X HNYSHUF 11,900
< 4,760
Al 7,140
O b=23itd d=53ela 21,400
= 8,560
Al 12,840
O 202X =0 s 14,000
S 5,600
Al 8,400
O U=Eais DELS0l AL 32,000
= 9,600
Al 22,400
O U= 23N AY 30,000
S 9,000
Al 21,000
320,159
Jl 124,323
£ 68,200
Al 127,636
NAS 2RUMEXE (2 170,400
Jl 122,720
S 23,840
Al 23,840
170,400
Jl 122,720
= 23,840
Al 23,840
170,400
20t MHHESH N A 153,400
Il 122,720
= 15,340
Al 15,340
OMAS SR2HE T LSH XA 17,000
S 8,500




A OIS
I GE=XET
©9: B2RIIEX

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2

| Al 8,500

HNAS DEXNIIE MEXNXNIANL(EX) 147,756 141,700 6,056
& 44,200
Al 103,556

301 LBt A= 147,756 141,700 6,056
& 44,200
Al 103,556

01 Al E & A 462 147,756 141,700 6,056
OMdASE stE22IE MEIE X AS 147,756
o= 44,200
Al 103,556

HAad 522 HEIF(EX) 2,003 3,050 A 1,047
J| 1,603
= 160
Al 240

301 et A= 2,003 3,050 A 1,047
J| 1,603
= 160
Al 240

01 M3 EXEE 452 2,003 3,050 A 1,047
OF3A4d 832 NEXd 2,003
J| 1,603
& 160
Al 240

HeHASA 277,696 216,362 61,334
= 1,725
J| 151,776
& 54,354
Al 69,841

I8 Z g 2 OolAR(EXR) 114,352 106,678 7,674
J| 81,802
= 16,276
Al 16,274

301 LBt A= 1,456 956 500
Dl 728
= 364
Al 364

09 HAIAHI E A2 1,456 956 500
OWEZHANAE SANX = 1,456
J| 728
o=} 364
Al 364

307 QI2t0| & 112,896 105,722 7,174
J| 81,074
& 15,912
Al 15,910

o1 s R=t| 810 2,143 A 1,333
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OJIEdZ= 0ol X 2 =H| 810
Jl 567
& 122
Al 121
11 A EXAIEEX 112,086 0 112,086
OJIEZd IlolA BESAE 89 85,318
J| 59,722
= 12,798
Al 12,798
OJE = 1A sy 1,375
J| 963
= 206
Al 206
OJNEZHINNESAE "2 X MAHL XS 6,822
J| 6,822
OJIEdZE0A Xegss 22 18,571
Dl 13,000
= 2,786
Al 2,785
MY - =22 Dol A HERIAE(EX) 7,374 8,165 AT
J| 5,162
o 1,106
Al 1,106
307 212t0| ™ 7,374 8,165 AT91
J| 5,162
= 1,106
Al 1,106
11 A EXAIEEX 7,374 0 7,374
OJIEZEIIolAF DX SsEZZ ) H 7,374
J| 5,162
& 1,106
Al 1,106
AZ 2 X L Ijof XX 4,000 0 4,000
307 2iz2to| A 4,000 0 4,000
11T A EXAIEEX 4,000 0 4,000
OO0l 42 g u=s 4,000
HAE2 X Y OHKKRF(EE) 84,350 82,599 1,751
= 1,725
J| 41,182
= 20,549
Al 20,894
307 QI2t0| ™ 84,350 82,599 1,751
= 1,725
J| 41,182
& 20,549
Al 20,894
o1 s R=t| 3,655 3,570 85




A OIS

g d=1sd
S HERAASH EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Od=Z"Iloi it 2d=zdl N 3,655
J| 2,559
< 548
Al 548
11 ALS S XAEE = 80,695 0 80,695
ONd=84ga 29 70,045
J| 35,023
< 17,511
Al 17,511
O0tsetE X E MAH 3,450
= 1,725
< 690
Al 1,035
O0sSHLtEAZHU 29 7,200
J| 3,600
< 1,800
Al 1,800
FHAyg #Adsd 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
10 AL SXAIEEE2EHEX 5,000 5,000 0
OJNEZHINK ESAE BAL 5222
g XA 5,000
HoAoH AYSsI(EX) 62,620 13,920 48,700
J| 23,630
< 16,423
Al 22,567
307 glz2tol & 15,360 13,920 1,440
< 4,608
Al 10,752
11T M SRAISE EX 15,360 0 15,360
OWEESANE BSAX =& 5,760
= 1,728
Al 4,032
O&=Zdaga SAX HRIHLH 9,600
< 2,880
Al 6,720
402 BI2FX=20| M 47,260 0 47,260
Jl| 23,630
< 11,815
Al 11,815
01 St AL E X 47,260 0 47,260
ONEZZINNESAAE JDIsE 47,260
J| 23,630
< 11,815
Al 11,815
Chrst 5™ X2 440,795 427,955 12,840
= 288,905




AN GEIEY
3 dd=Nsd
& O EFH X

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

=

60,396
91,494

OLOIS 20l KA (EBX)

= M W

355,139
246,077
43,265
65,797

344,005

11,134

307 21201 A

=z N W

355,139
246,077
43,265
65,797

344,005

11,134

1A XA E =
OO0l S 20IAME

O
30
H
>
10
0z
2
=)

= N W

= M

355,139

351,539
246,077
42,185
63,277
3,600
1,080
2,520

355,139

ALNEXNHHE 2SHI(EX)

= M W

85,656
42,828
17,131
25,697

83,950

1,706

307 21201 &

= M W

85,656
42,828
17,131
25,697

83,950

1,706
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H
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O
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S
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sl
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m
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= W
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0x
pal
Bl
©
Ju
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X

W

f

Al
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152,128
82,200
51,864
215,314

627,484

N125,978

=
0x
Bl
ton
x
il
08!
0z
S
10
Ho
08

H

H

Al

488,698
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82,200
51,864

202,506
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143,442
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M HEIIED
FM: Hdd2oE &4
Chel: e EsHH BHNs2Y (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O Bdu=s2d s28HX M
100& *6, 00001 x23! 1,200
O BdusZA AT ZXNFY X oMY
15,0003 x20H »23| 600
O us4a & st AL
325,000 1000 2 3,250
O M=ss SANE=S 50,000 =334 1,650
02 8323l 32,620 32,620 0
O MMDIA OHY BMANEER
660,000& 122 7,920
O s tMALD Ul 282 1,000
O AYAIE B 500
O M=Z2=24=83 A4 250
O 3322 2 MA 18,000
O &R Al 3,000
O A gL s 250,000& * 53| 1,250
O HIIAEBSAN =22 700,000& = 13l 700
301 LprB A 103,572 104,054 ~4g2
1MIIEELSS 103,572 104,054 A 482
O d2Jls 2ddus ZA =<
30,0003 1410t S +23| 64 Al 2+ 53,760
O FHolns ZA =&
30,0003 51t S 23| 64 Al 2+ 19,200
O 02t | ZA==E
30,0003 #1110t = +23| «30Al 2¢ 19,800
O usd 02l XNES2ZA =5
200,000& x101t = 2,000
O e NS E8 2ZAM ¢
1,000,000& *12] 1,000
O ROI=018 OISES22X AUIE4
5,580 7 Al 2tx200 7,812
HEMZLSIIIHEH 2Z(EX) 208,256 304,000 AN95,744
= 147,628
< 30,314
Al 30,314
101 1A dl 86,856 75,600 11,256
= 43,428
= 21,714
Al 21,714
M4 II2HHZ22NSES 86,856 75,600 11,256
O FHIEAHA 21AHI 1,575,000& »4H 123 75,600
= 37,800
< 18,900
Al 18,900
O HSLEAHA E R+ 1,500,000 *3 4,500
= 2,250




Hu: GlHERH %y
Sl O{MSSME BMDSLY (B9 ®R)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 1,125
Al 1,125
O FHEEAHAAMN 4UEBEZ 6,756
= 3,378
< 1,689
Al 1,689
201 Let249] 28,100 36,100 A 8,000
= 23,050
< 2,525
Al 2,525
01 At 22/l 28,100 35,860 AT,760
O HEMZLUSIIEEH (HLEAHA) 2949 3,000
= 1,500
= 750
Al 750
O M=l MHI AKX 7,100
= 3,550
< 1,775
Al 1,775
O Zgussd 249 18,000
= 18,000
202 o4dl 2,400 2,400 0
- 1,200
< 600
Al 600
01 = LH o4 1l 2,400 2,400 0
O AL PUHLE U SHHE S
=l 600,000% »4H 2,400
= 1,200
< 600
Al 600
206 M= Hl 11,000 24,400 A 13,400
= 10,500
< 250
Al 250
01 = Hl 11,000 24,400 A 13,400
O M=l MHI AKX 1,000
= 500
< 250
Al 250
O dgussd M=l 10,000
= 10,000
301 PP B A 79,900 165,500 85,600
= 69,450
< 5,225
Al 5,225
01 MEIBZE 063 45,000 120,000 AT75,000




2N
X ZH -
L= B

el

CEpIE
GEMSH 2y
OlE 2o ME B

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OMZoidgele Me 1a3
500,000 * 15 64 & 45,000
2 36,000
< 4,500
Al 4,500
09 HALAHIEA S 7,900 9,500 A 1,600
O M=l MHI AKX 2,900
= 1,450
< 725
Al 725
O Zgussd HYXA 5,000
= 5,000
11IIEEAS 27,000 36,000 A9,000
O dgEd M= 27,000
= 27,000
MELBHIHE (HEEHAN 2Y)(BX) 27,000 26,000 1,000
= 4,500
= 7,650
Al 14,850
202 04l 18,000 9,600 8,400
= 5,400
Al 12,600
01 = LHA Yl 18,000 9,600 8,400
OFLEAHA L NI 25FH(0Hl)
250,000 & «6H x 124 2 18,000
< 5,400
Al 12,600
402 RI2EXt20| N 9,000 14,000 25,000
= 4,500
< 2,250
Al 2,250
01 B2t AP E X 9,000 14,000 25,000
OMZ=ZelMEIA HEZESHIY S3MHEAY 9,000
= 4,500
< 2,250
Al 2,250
FACHOSE ACGANST2]Y 2Y(SX) 75,000 75,000 0
| 75,000
101 @144 Hl 45,000 42,000 3,000
| 45,000
04 JIZHHZ2XREES 45,000 42,000 3,000
O Hgaga o8l 1,750,000 «2E «1204 & 42,000
J| 42,000
O dgagd g8 1,500,000& »2H 3,000
| 3,000
201 LB-2dH| 20,000 23,000 23,000




A OIS
S0l

g odd RS
& HEZ2HE BHNE2F (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
J| 20,000
01 At 22l 20,000 23,000 A 3,000
O &dHadg=Ezd 23 20,000
Jl 20,000
202 o4 Hl 8,000 8,000 0
J| 8,000
01 = LH 4 Hi 8,000 8,000 0
AAagd 230 2 I Ol 8,000
J| 8,000
301 et a s 2,000 2,000 0
J| 2,000
09 AL HI 2 &S 2,000 2,000 0
O dHadgZ20d =2 X At=22ltl 2,000
J| 2,000
ZEOUHLAHEAMS(EX) 9,000 15,000 A 6,000
J| 7,200
< 900
Al 900
301 LA Z 9,000 15,000 A 6,000
J| 7,200
< 900
Al 900
01 AR 2Z A 53 9,000 15,000 A 6,000
OZE0I2HLEUE THE NAS
500,000 3 61 & 9,000
J| 7,200
< 900
Al 900
HEFEINY SHMEMS(EX) 20,000 6,000 14,000
< 10,000
Al 10,000
402 RI2HXt20l M 20,000 6,000 14,000
< 10,000
Al 10,000
01 At Tt=AEEX 20,000 6,000 14,000
O &0l otdl £2 J1Y SFMEAMY
10,000,000 *20H 2~ 20,000
< 10,000
Al 10,000
O FHela MEUs & I WERID A 6,000 6,000 0
A(EX)
< 3,000
Al 3,000
201 ¢4l 3,500 3,000 500
< 1,750
Al 1,750




AN &8Iz
Hu: GHES02 Uu
e HESSHdE BMNS2Y (2 &HH)
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Ei HR=2
01 AP 22| d| 3,500 3,000 500
OAEFEAAMNMEN= 1,500
= 750
Al 750
OJIgH EHERD 23ALS 2,000
= 1,000
Al 1,000
301 LBt A= 2,500 3,000 A500
& 1,250
Al 1,250
09 HAIAHI BEAZ 1,000 1,000 0
OJIgHM oAHHERTD 23ALH 1,000
= 500
Al 500
11 JIEtE A2 1,500 2,000 A 500
OAdFYAAMNE IR 1,500
& 750
Al 750
224 ZAO PNREA XM 12,808 31,560 N 18,752
2N Q2AHOIA Y HEMAIZEES AA 4,050 4,050 0
201 B9 1,000 1,000 0
01 AP 22| H| 1,000 1,000 0
OzBET 29H| 1,000
206 M = dl 2,450 2,450 0
01 X2 bl 2,450 2,450 0
O&FZTEHE 2 MAG MEs 2 2,000
OX&4 gH Y 5,000 x50 250
O&ZM, asH 7 10,0009 x20H 200
301 et A= 600 600 0
09 HAIAHI E A2 600 600 0
OXE LT AL X SAHX 242
60,000& x10H 600
WEIIAM & Nssd 8,758 27,510 N 18,752
101 21 214| 958 910 48
04 JIZtHIZ22NSESES 958 910 48
O HAE2SIHEE HAIFH =&Y
44 640 «4H x4 3] 715
O =5 8K & 60,5403 2 x23| 243
206 M EHl 3,600 4,800 A 1,200
01 X Z Hl 3,600 4,800 A 1,200
O 28248 WEIIXNM 2 HE 2L
150,000 x 121t 2 #23| 3,600




2A: 41
Hu: GlHERH %y
et UM ZAO NRBY Z4 (el @2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
307 2izto| A 4,200 4,200 0
05 QIZtR ES 4,200 4,200 0
O A 2921 &l 100,000 x12& 1,200
O &J|etd &H A 250,000 x12& 3,000
orsaEAd 22X =& 26,474,324 22,617,318 3,857,006
= 10,118,219
Xl 710,000
J| 17,620
& 9,149,449
Al 6,479,036
HAa4E 2319 & 29 100,880 95,700 5,180
J| 13,620
Al 87,260
HAE LA NEXN N (BX) 19,440 19,440 0
J| 9,720
Al 9,720
307 2Iz2t0| & 19,440 19,440 0
Dl 9,720
Al 9,720
05 QIZ2tREF 2 19,440 19,440 0
OFAYE £=&HAIE XN A BIEXI K& 19,440
J| 9,720
Al 9,720
FHIOZ2OAH 29 L S (EX) 3,000 2,320 680
J| 1,500
Al 1,500
307 2izto| & 3,000 2,320 680
J| 1,500
Al 1,500
05 QIZ2tR E 2 3,000 2,320 680
O HAULEALE T2 22| 3,000
Dl 1,500
Al 1,500
HAE 2R3 2 (EX) 4,800 2,000 2,800
J| 2,400
Al 2,400
307 212t0| & 4,800 2,000 2,800
J| 2,400
Al 2,400
05 QIZ2tE 2 4,800 2,000 2,800
OFAE2IA/AAS 29 NE 2,000
J| 1,000
Al 1,000
OFAEENWHRAYS 29 K& 2,800
J| 1,400
Al 1,400




M 08I S
Hu: OlSHAY 22X X
o9l HAW 250 ¥ 29 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Ha4dE 2319 & 29| 73,640 71,940 1,700
307 2iz2to| & 65,640 62,040 3,600
05 QIZ2tRE 2 65,640 62,040 3,600
O EAEXT AN Q124H| 1,670,000 x12& 20,040
O HAEIFE 2E oA
1,700,000 x12& 20,400
O H2AUERSE 2222 1,000,000 12 12,000
O BAEURHY AR BY
100,000& x12& 1,200
O der2A| 12,000
401 AlEHIZL £ 0HY| 8,000 9,900 A 1,900
01 Al&H| 8,000 9,900 A 1,900
O HAURHY OFASLUEX UL 22l
2 At 8,000
Haod gsld € 25 1,745,640 446,920 1,298,720
= 191,124
Xl 700,000
J| 4,000
& 57,755
Al 792,761
HAE g 0s OftM0l 29 (B X) 145,500 166,000 A 20,500
= 72,750
= 21,825
Al 50,925
307 2iztol A 145,500 166,000 A 20,500
= 72,750
= 21,825
Al 50,925
11T AISIEXAIEEX 145,500 0 145,500
OFAE@YgW=0I2I4I0 88 K& 145,500
= 72,750
o 21,825
Al 50,925
HAE HSEOII(EX) 28,000 28,000 0
= 10,034
o=} 5,600
Al 12,366
307 QI2t0| ™ 28,000 28,000 0
= 10,034
=} 5,600
Al 12,366
11 A EXAIEE X 28,000 0 28,000
OFAE=EIIY 2EXA 28,000
= 10,034
& 5,600
Al 12,366

o1
|




2N
X ZH -
L= B

el

GRS
otsdEAYE =X S8

OEHAE BENY Y £5

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
HAHE S0t &= N (EX) 4,000 4,000 0
= 1,460
& 800
Al 1,740
307 2iz2to| & 4,000 4,000 0
= 1,460
&< 800
Al 1,740
11T A EXAIEEX 4,000 0 4,000
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Al 83,000
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OFAYE ASETHEH 2HAA 101,700
o=t 18,700
Al 83,000
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201 Bt 5,070 5,920 A 850
01 AP 22| H| 5,070 5,920 A 850
O d3AES HEYZS
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O &dAE BsE8s 2ot HE
80,000 *20H 23] 320
O 3449 B sE28HZE 1,000
O dEoyYd =3I &5 2,500& 1,100 2,750
301 et A= 1,000 1,000 0]
11 JIEtE A= 1,000 1,000 0
O 3AUKOlEtE MO EA 2 BsatsEA 1,000
307 2iz2tol & 20,000 20,000 0
02 QIZ2HAAAIE E X 20,000 20,000 0
O gxu 2SAMEXH 20,000
HAE Soistd 2AEH 2H(BX) 4,250 4,250 0
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307 QI2t0| & 4,250 4,250 0
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Al 495,000
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307 glz2+ol & 5,000 5,000 0
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= 1,200

401 Al HI YL 2 0HHI 5,000 0 5,000
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= 1,500
Ooglelgex+g 500
= 500
SLEL PO 530
= 530
O X+¢ 800
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